SERVICE %
MANUAL

FM/LW/MW
STEREO TUNER T-2l OI-



Klepaczewski

Klepaczewski

Klepaczewski

Klepaczewski


CONTENTS

Block Diagram  —————m—mom
Adjustment Locations —————m——om e
Adjustment Procedure ————————
Exploded View Parts List =——————m———o—
Packing Material Parts List ~—=——————o——————

Power Trans PCB Parts List -~ -

Pointer PCB Parts List ~———————mmmmm
Radio PCB Parts Ligt ————=—————mm— oo
LED PCB Parts List ~=———— o
IC Handling Guide —-—— S —

Schematic Diagram ————————wmm o

Specifications ——==w=———m



Block Diagram

WvYd9VvId X23018 10iZ-1

1
i
! i
| i
| 1
t 4039 |
I ! 1NJ¥ 1D
| | ONIXIW
1 t IYNOIS [
1 1
!
| 319341 |
I 39vii0A | | O TBis ~
1 |
1 |
I S, . ¥
D (R e oS L It ]
1 9011 434114
| SS5Ya-MO1 a+RY
1 ¥3LT4 O—
1112810 Fdd 1y
SISYHAW3 m.é/OI

3 CIRF

H3LNiOd VI0
—

[ a
| 1
] I
eI PR e
SLF E%« 034318 o asnd
ONTLNN ./ } 5027
A _cav| onninne S
"momwﬁ_m.ﬂ%_ ONUAR | warniod wia i
|
1 ONILNA !
| ANV |
! !
1 {
| I
1 1100412
| ONTION Q
dl
| {
1 |
| H311td Y3113 DINVYID FEIRIFRIT o |
= SNYRL
| 310Y18 -LNY 36ig 3SVHd HANIT FIHI EINIT b e e
1
|
!
|
1
G
L e e e e e e e —— —— —— ——E— — —m m — —m ——— - — — o — = —



Adjustment Locations

SW101:LW/MW L103:FM DET Trans. L-1:IF Core TP-1:Check Pin
SW102:AM/FM L201:LW OSC Trans. TP-2:Check Pin
SW103 :Mono/Muting L202:MW OSC Trans. T-1:Trimmer TP-3:Check Pin
SW501 :Power L203:LW Ant Coil T-2:Trimmer TP-4:Check Pin
L204:MW Ant Coil T-3:Trimmer Gene
VR101:Muting ADJ L205:AM IF Trans. T~4:Trimmer scope
VR102:V.C.0 ADJ L206:AM IF Trans.
VR201:4M Signal ADJ O /\
TC201:LW 0SC Trimmer O
TC202:LW Ant Trimmer AMS.G. O O
D [g Q R ——
ON®)
ON®) K/ stereo FM Modulator
Oo \
O o o < O —— ——
O ——
AC Volt Meter: Distortion Meter Oscilloscope - =
S 60 cm o0 O cooo ¢ O
[Z E O|— —— || DC Digital Volt Meter EM S.G. |

oDon ———— 00 |[=
» O o 0000,, —— 00 ”:, S

50 or 75/300

: |
l’:;p Am
Out-put |l| f \ r_[L.

Tz
SsuPPLY B4D56888F02 .ss v, | N Loa Owm 0.0 O o
VOLTAGE = P Dg o Nt - e anT
g S¥ out PUT 2% 213 b —wzo— AT101L 500 Ny ()
ze0v. - Q 26w S8 | =|& 3 5 T150l®
i Z .o FL108 105, | LANT 18 ARDY H
g TS s o _nug, 5
- g8z 3 e L-1 g
= g
S o uw u !
Sl (W I £ = /
w Fsor gy
< = I d
el ) gEcs
i=3 o o
=3 o
£ TR __meves 5z Ju —
e H T 0000 1=
=
® o]
O, ° e T =
> 253 ; s * s °|%E *\<T3 LT
@ LT
L P e ST ) T4 wdign 1t )
4130 Ji3r C134
T T oz v A0
5 e e
W BT 5‘~ -
3 a1 L czs 22 23 cizs :vla Ex| Z]aw07
so e ottt q 9 »
;
« g 00 T s el U, 5 o VR201
0w v ™ czis cihe
] s
3z m Y 212
23 3 1
[ [ o jo VR 2
sl cE3 3
3 250V 0.54 csoz g 2o . 2
8T T ceon zwld 3 3
3 e cson X ANE
swsol “ * =T kb H
power . . 1cs0 W e
Y adadeds wrem  Fo ¥
ors | i :fr; 3 4 LEr
‘5 P MONO & MUT OFF 10
P M dooo t o 1205
Soad
2 O o < €233 STEREO & MUT ON 88For—rsif:])
I500mA o O J pe+rg My L202

e

l l SW501 @ l SW101 Q

J L JU J

{Power SW) {Muting SW} (Function)

(Tuning)

Frequency Counter

]

Q




Adjustment Procedure

Mod. freq. 400Hz
Modulation 307
OQutput level

68dB/m

. Measuring
Signal input instruments Tuning dial Adjustment
Step conmection method Tnput signal connected position point Procedure

1 Set SW103 to Mono/Mut.off, SW102 to FM, SW501 to power off while all other switches are set at any position.

2 Set each volume of VR10Ol, VR102 and VR201 to center position.

3 Power on by pressing SW501.

4 DC digital multi- At about 98MHz Core near to Set DC digital multimeter to

meter between TP1 but not at FM IC101 of 1103. +0V. Alsc ensure blinking of
& TP2. station. . LED dial pointer.

5 FM SG 98MHz at 1KHz 100% Oscill distortion Exactly at Core located Adjust to minimize distortion.
modulation output meter, AC voltage 98MHz . at opposit side Repeat 4-5.
level 65dBf. meter to output of ICLOL

terminals of set. of L103.

6 87.4MHz at 1KHz Low end.

100% modulation out- Adjust to set 87.4MHz! ) o
- z
put level 65dBf.

7 108MKz at 1KHz 100% 108MHz Trimmer of T2 Adjust to tune exactly at
modulation output & T4 on front- highest sensitivity. Ensure
level 65dBf. end. low and high frequency resp.

at 87.4MHz+100-108.25MHz+200.

8 98MHz at 1KHz 100% 98MHz IF L-1 core of Adjust sensitivity at maximum.
modulation ocutput front-end.
level 10dBf.

9 Set SW103 to Stereo/Mut.on.

10 FM sG 98MHz at 1KHz 100% Oscill distortion 98MHz VR101 Adjust VR101 so that output

medulation output meter, AC voltage comes out.
level 19.0dBf. meter to output
terminals of set.

11 Ensure the other specifications than FM section.

12 98Miz output level Connect frequency 98MHz VRI02 Adjust to I9KHz+IDHz.

604Bf. counter to TP3.

13 98MHz at 19KHz Oscill distortion 98MHz Front-end Maximum adjustment by half

10% modulation and meter, AC voltage IF L-1 core. turn if distortion exceeds
L-ch or R-ch 90% meter to output limit. Ensure specs at stereo
modulation, output terminals of set. mode.
level 65dBf,

Check if dial pointer LED

14 Set SW102 at AM, and SW101l at MW. always lights up.

15 Output of gene- Center freq. 450KHz Input of gene~ Tune in about L205 Adjust to get symmetrical wave
scope to AM ANT Qutput level 40dB scope to TP-4. 1600KHz having L206 form and maximum ampli tude
terminal. Sweep-speed 5-10Hz no AM station. at 450KHz.

16 AMSG-Loop ant. Freq. 600KHz Connect synchro- Exactly at 1202 Adjust to exactly recedive.
(Set both loop Modulated freq. scope, distortion 600KHz. L204 Adjust so that output becomes
ant. of set and SG 400Hz meter and AC volt- maximum.
having 60cm distance Modulation 30% meter to output
at their center Qutput level terminal.
point in vertical.) 58dB/m

17 Freq. 1400KHz Tune in T-1 trimmer in Adjust to exactly receive.

Mod. freq. 400Hz 1400KHz . frontend.

Modulation 30% T-3 trimmer in Adjust to get maximum output

Output level frontend. repeating step 16 & 17.
58dB/m

18 Freq. 1000KHz Tune in VR201 Check if signal LED lights up

Mod. freq. 400Hz 1000KHz . all (5 segm ents).
Modulation 30%
Output level

80dB/m

19 Check the specifications respectively of MW(Confirm the band edge ranging from 525415 to 1670+40KHz) .

20 Set SW10l at LW.

21 AMSG-Loop ant. Freq. 170KHz Connect synchro- Tune in 170KHz L201 Adjust to exactly recedve.
(Set both loop Mod. freq. 400Hz scope, distortion (same as 600KHz L1203 Adjust to get maximum output.
ant. of set and SG Modulation 30% meter and AC volt- at M)
having 60cm distance Output level meter to output
at their center 68dB/m terminal.
point in vertical.)

22 Freq. 320KHz Tune in 320KHz. TC201(CT201) Adjust to exactly receive.

TC202 (CT202)

Adjust to get maximumn output
repeating step 21 & 22.

Check the specifications respectively of LW(Confirm the band edge ranging from 150-10 to 350-20KHz).




=
“_-1
>
a
Gl
a
o
o
a
><
al




Exploded View Parts List

~ —
] o ] o]

% @ é Stock No. Description % @ 2 Stock No. Description

S e A | &

F-3 1 | 01V58300F05 | Ass'y,Radio PCB (SK) - 57 | 49A51550F01 | Pulley 13
01V58600F52 | Ass'y,Radio PCB (AK) - 58 | 03B41643U07 | Scr,Mch M3x9
01V59200F46 | Ass'y,Radio PCB (UP) - 59 | 43A56913F01 | Spacer,Pointer

G-3 2 | 77756895F01 { Frontend,F.F711U11X (SK) - 60 | 43B41625J02 | Support Cord
77T56895F02 | Frontend ,F.F711E21  (AK) (UP) - 61 | 85T51078F01 | Antenna,Loop

F-2 3 | 01V58300F06 | Ass'y,Power Trans (SK) - 62 | 04540071G01 | Wash,3.1x5.9x0.7
01V58800F13 | Ass'y,Power Trans (AK) - 63 | 04540070G47 | Wash,3.2x7x0.5
01V59200F47 | Ass'y,Power Trans (UP) - 64 | 09T51122F01 | Terminal,ANT.

D-5 4 | 01V58300F07 | Ass'y,LED PCB — 65 1 07A57736F01 | Bkt,Wheel

F-4 5 | 27D56857F01 | Chas,Main - 66 | 75A57803F01 | Cushion

F-4 6 | 035S44205G01 | Scr,T-Tite M3x6 - 67 | 14553018F42 { Insulator,50%5

F-2 7 |1 03C42723001 | Scr,Cup M3x6 ~ 33 | 41A51552F01 | Spring,Drum

8 | 03540012G41 | Scr,Tpg M3x8 - 34 | 36A56850F01 | Knob,Tunig

1

9 1 03C42723U01 | Scr,Cup M3x6

10 | 03S44205G03 | Scr,T-Tite M3x8
11 | 07A56862F01 | Bkt ,Pulley

12 | 03S44205G01 | Scr,T-Tite M3x6
13 | 03B41643J07 | Scr,Mch M3x%9
49A51550F01 | Pulley 13

15 | 45A56864F01 | Lever,Knob 1380
16 | 49A51551F01 | Drum,Dial

17 | 45B56865F01 | Lever,Knob 1223

35 | 36B56851F01 | Knob,Push 1194
36 | 36A56640F01 | Knob,Push 1189
37 | 15C56855F01 | Cover,Top

38 | 03S44205G38 | Scr,T-Tite M3x6
39 | 15B56856F01 | Cover,Bottom

40 | 03544205G01 | Scr,T-Tite M3x6
41 | 75A52969F01 | Pad,Tramm-Leg

42 | 03544205G10 | Scr,T-Tite M3x10
43 | 64C56847F01 | Panel,Front

P LI
[ I A I

QU xTg = w oot
NEVEVEVEVEVEVEVENEN
[
o~

TEEHOEAH DT H OO OO PEPEIOQO>T ? THEomoE QYU OoOR Do HOEEED MO Y
MR OAWWNNERENOOUREDRTCUUVUANUVOOUVNONOARENURENAUNGOWWNN -~
S
IS

- 18 | 15C56858F01 | Cover,Rear (SK) (AK) 07C56859F01 | Bkt,Scale
15C56858F02 | Cover ,Rear (UP) - 45 | 03844205G01 | Scr,T-Tite M3x6
G-1 19 | 28T43812P02 | Plug.AC Cord (SK) (AK) - 46 | 07B56848F01 | Frame,Panel Side L
28T55335F01 | Plug.AC Cord SPT-2 (up) -~ 47 | 07B56849F01 | Frame,Panel Side R
H-2 20 | 55T51079F01 | Lock,Ant. Holder - 48 | 07C56907F01 | Frame,Knob 1153
H-2 21 | 09T51080F01 | Connector,ANT. (SK) (4K) - 49 | 07B56852F01 | Frame,Knob 1158
F-3 22 | 40T56893F01 | SW,Push SUN 191A2-NS - 50 | 43A56628F01 | Spacer,Power
F-3 23 | 40T56894F01 | SW,Push SUN 191A - 51 | 61A56641F01 | Crystal,Indicator
F-2 24 | 09T50231F01 | Plate,Phone 2P - 52 | 34B56853F01 | Dial,Scale
E-3 25 | 51T56583F07 | IC,Voltage L78N 12V - 53 | 07A56850F01 | Bkt,Side L
F-2 26 | 25T56902F01 | Trans. 82010 (SK) (AK) - 54 | 03C40014G04 | Scr,Mch M3x6
25T56902F02 | Trans. 82014-2 (UP) - 55 | 07A56861F01 | Bkt,Side R
E-2 27 | 40T56903F01 | SW,Power SUF 12 - 56 | 03C40014G04 | Scr,Mch M3x6
D~4 28 | 03540012G28 | Scr,Tpg M3x8 - 57 | 49A51550F01 | Pulley 13
E-5 29 | 49A56863F01 | Wheel,Ass'y 1018 - 58 | 03B41643U07 | Scr,Mch M3x9
C-6 30 | 02540000G20 | NUT,HEX M9 - 59 | 43A56913F01 | Spacer,Pointer
c-4 31 [ 52B56854F01 | Pointer,Scale - 60 | 43B41625J302 | Support Cord
G~5 32 | 30S43803G06 | Dial Cord - 61 { 85T51078F01 | Antenna,Loop
B-5 51 | 61A56641F01| Crystal,Indicator - 62 | 04540071601 | Wash,3.1x5.9x0.7
A-6 52 | 34B56853F01 | Dial,Scale - 63 | 04S40070G47 | Wash,3.2x7x0.5
A-4 53 | 07A56850F01 | Bkt,Side L - 64 | 09T51122F01 | Terminal,Ant
A-4 54 | 03C40014G04 | Scr,Mch M3x6 - 65 | 07A57736F01 | Bkt,wheel
C-5 55 | 07A56861F01 | Bkt,Side R - 66 | 75A57803F01 | Cushion
Cc-6 56 | 03C40014G04 | Scr ,Mch M3x6 - 67 | 14S53018F42 | Insulator,50x5
Remarks: AK ... 220V for Europe, South East Asia
(with Line Voltage Selector)
SK ... 220V for Europe
UP ... 120V for Canada



Packing Material Parts List

Symbol No. Stock No. Description
201 56D56866F01 | PKG, Tray
202 56B40230G34 | Sack, Poly
203 56C53420F30 | Carton, PKG
204 56C53420F31 | Carton, PKG
205 ME0250 Owner's Manual
206 85T51069F01 | Antenna.FM
207 28C42374302 | Cord Output
208 28T51066F01 | Plug, Antenna(SK,AK)
209 85T51078F01 | Antenna. Loop




Remarks
Capacitor:
Resistor :

Power Trans PCB Parts List

El...Electrolytic, Ce...Ceramic, My...Mylar, Pp...Polypropylene
Rd...Carbon, Rm...Metal Film

{oF

o &
He -
RS,

CAUTION . FOR CONTINUED
PROTECTION AGAINST RISK OF FIRE,
REPLACE ONLY WITH SAME TYPE

€osrs [:]@

K o 2 ¢ «csos N
7933
i on = [ e
-— = s5e
- N )
© N N RES
o o O),'D
] < = <&k
m
- N
I o T500mA T500mA T500mA
g g :
2
E F504 v b o >
> Rgsoz,_ o e g 3 g
0504 > w M)

¥8'0-A0SZ

Hss! Z0388895Qv8

250V FUSE J
ATTENTION: UTILISER UN
FUSIBLE DE RECHANGE DE ME ME
\\ TYPEDE 250V
Power Trans PCB Parts List
S R
Sy?EOl Stock No. Description YEEOI Stock No. Description
(Trans, Power) (Switch)
PT501 25T56902F01 {No. 82010 (SK) (AX) SW501 [40T56903F01 | SUF12
25T56902F02 |No. 82014-2 (UP) (IC)
(Bolder,Fuse) I1C501 [51T56583F07 [L78N 12V
F501 09T51410F01 [Holder,Fuse (AK) (Diode)
F502 09T51410F01 |Holder,Fuse (SK) (AK) D501 48T55186F01 | GP10OD
F503 09751410F01 |Holder,Fuse (AK) D502 48T55186F01 | GP10OD
09T51960F01 | YSH-401T (UP) D503 48T55186F01 | GP10OD
F504 09T51410F01 jHolder ,Fuse (SK) (AK) D504 48T55186F01 | GP10OD
09T51960F01 [YSH-401T (UP) (Capacitor)
(Fuse) C501 23T51235F16 |10uF 16V E1
F501 65T42077U13 [T-500mA (240V-AK) €502 23T51234F78 | 1000uF 25V E1
F502 65T42077U13 | T-500mA (220V-SK.AK) C504 21C45322G32 | 22000pF 50V Ce
F503 65T42077U13 | T-500mA (120V-AK) (Resistor)
65T52486F31 | CS61M 0.5A-250V(UP) R501 {06D40802G44 [2.2M 1/2w rRd (UP)
F504 65T42077013 | T-500mA (SK) (AK)
65T52486F31 | CS61M 0.5A-250V(UP)
Pointer PCB Parts List
Symb
y3001 Stock No. Description
(Diode)
D401 [48T56899F01 [ SLB-26URS




Radio PCB Parts List

SYEI(jOl Stock No. Description Syrlgt(;ol Stock No. Description

(Switch) (1C)

SW101 40T56894F01 | SUN 191A 1C101 51T51095F01 |[LA1235

SW102 40T56893F01 | SUN 191A2~NS 1C102 51T51094F01 |UPC1235

SW103 40T56893F01 | SUN 191A2-NS 1€201 51T56890F01 |{HA1197

(Front,End) (Transistor)

FE101 77T56895F01 [F.F 711U11X (SK) Q101 48544580303 | 25C1675K
77T56895F02 |F.F_ 711E21 (UP) (AK) Q102 48S43525F02 | 2SC1815Y

(Terminal) Q103 48S43525F02 | 2SC1815Y

AT101 [09T51122F01 | Terminal,Ant. Q104 48543525F02 | 2SC1815Y

(Plate,Phone) Q105 48S43525F02 | 2SC1815Y

0T101 09T50231F01 |P1ate,Phone 2P Q106 48843525702 | 2SC1815Y

(Variable Resistor) Q107 48S543525F02 | 25C1815Y

VR101 18C42061J13 5K Q108 48S43525F02 | 2SC1815Y

VR102 18C42061J13 | 5K 0161 48843525F02 | 28C1815Y

VR201 18C42061J13 | 5K (Diode)

(Trimmer) D101 48T51582F01 |MA-150

TC201 20T47503F02 | TZ03 (Red) D102 48T51582F01 |MA-~150

TC202 20T47503F02 | TZ03 (Red) D103 48T51582F01 |MA-150

(Coil & Filter) D104 48T51582F01 |MA-150

L101 91T51130F01 [Filter,Cer SFE10.7MM D105 48T51582F01 |MA~150

L102 91751130F01 | Filter,Cer SFE10.7MM (Capacitor)

L103 24T51128F01 | FM DET  LA1457 C101 08S44505P63 | 22000pF Ce

L104 91751083F01 | Filter,Anti Birdy Cc102 08844505P63 | 22000pF Ce

L105 91T51124F01 | Filter ,MPX  LA1209 Cc103 23T51235F01 | 0.47uF 50V E1

L106 91T51124F01 | Filter ,MPX LA1209 C104 23T51235F16 | 10uF 16V E1

L201 24T56891F01 | LW 0SC C105 08S44505P63 | 22000pF Ce

L202 24T51542F01 { AM LUX~1073 C106 08S44505P62 | 22000pF Ce

1203 24T56892F01 | LW,ANT. Cc107 08S44505P63 | 22000pF Ce

L204 24T51125F01 | ANT. (AM) Cc108 23T51235F24 | 22uF 16V E1

L205 24T51126F01 | IF (455KHz) €109 08544505P37 | 100pF Ce

L206 24T53327F01 | IF, Trams. c110 23T51235F03 | 1uF 50V E1




Sy§201 Stock No. Description
€111 08844505P63 | 22000pF Ce
€112 23T51235F13 | 4.7uF 50V El
c113 08844505P63 | 22000pF Ce
Cl14 08S44505P63 | 22000pF Ce
c115 08S44505P63 | 22000pF Ce
Cl16 23T51235F44 | 100uF 16V El
€117 23T51235F03 | 1uF 50V E1
C118 23T51235F03 | 1uF 50V El
€119 23T51235F05 |2.2uF 50V El
€120 23T51235F16 | 10uF 16V E1
C121 08T52448F05 | 0.00047uF Pp
€122 23T51235F03 | 1uF 50V El
€123 23T51235F08 | 3.3uF 50V El1
C124 08840656F21 | 0.047uF My
€125 23T42478F20 | 0.22uF (LN) 50V El1
€126 23T51235F16 | 10uF 16V E1
cl127 08T52448F07 | 0.00056uF Pp
C128 08T52448F13 | 0.0010uF Pp (SK) (AK)
08T52448F18 | 0.0016uF Pp (UP)
€129 23T51235F24 | 22uF 16V E1
€130 23T51235F24 | 22uF 16V El
€131 08T52448F13 | 0.0010uF Pp (SK) (AK)
08T52448F18 | 0.0016 Pp (UP)
C132 08T52448F07 | 0.00056uF Pp
€133 08T52448F05 | 0.00047uF Pp
C134 23T51235F03 | LuF 50V El
€135 23T51235F03 | 1uF 50V El
€136 23T51235F38 | 47uF 16V E1L
€137 23T51235F44 | 100uF 16V EL
c138 23T51235F44 | 100uF 16V E1
Cl61 23T51235F08 | 3.3uF 50V El
C162 08S40805F21 | 22000pF Ce
€201 08T42081U05 | 150p Pp
c202 21840655F21 | 68pF Ce
€203 08T52448F03 | 0.00039uF Pp
€204 21840655F15 | 22pF Ce
€205 21840655F17 | 33pF Ce
€206 21840655F13 | 15pF Ce
€207 08544505P63 | 22000pF Ce
€208 23T51235F44 | 100uF 16V E1
€209 08S44505P63 | 22000pF Ce
€210 08544505P63 | 22000pF Ce
€211 08S844505P63 | 22000pF Ce
€212 08544505P63 | 22000pF Ce
€213 08S44505P63 | 22000pF Ce
€214 08S44505P63 | 22000pF Ce
€215 23T51235F03 | 1uF 50V E1
€216 23T51235F05 | 2.2uF 50V El
€217 08844505P63 | 22000pF Ce
€218 23T51235F38 | 47uF 16V E1
€219 08S544505P53 | 2200pF Ce
€220 08844505P63 | 22000pF Ce
€222 08544505P49 | 1000pF Ce
(Resistor)
R101 06544593P41 | 100 1/4W Rd
R102 06544593P75 | 2.7K 1/4W Rd
R103 06844593P57 | 470 1/4W Rd
R104 06544593P53 | 330 1/4W Rd
R105 06844593P53 | 330 1/4W Rd
R106 06844593P89 | 10K 1/4W Rd
R107 06S44594P12 | 82K 1/4W Rd
R108 06844594P06 | 47K 1/4W Rd

_9—

Symbol

No. Stock No. Description
R109 06S844593P53 | 330 1/4W Rd
R110 06S44593P89 | 10K 1/4W Rd
R111 06S44594P06 | 47K 1/4W Rd
R112 06S44593P65 | 1K 1/4W Rd
R113 06S44593P33 | 47 1/4W Rd (SK.AK)
06840150733 | 47 1/4W Rd (UP)
R114 06544593P83 | 5.6K 1/4W Rd
R115 06S44593P73 | 2.2K 1/4W Rd
R116 06844593P83 | 5.6K 1/4W Rd
R117 06544593P81 | 4.7K 1/4W Rd
R118 06544594P18 | 150K 1/4W Rd
R119 06S44594P12 | 82K 1/4W Rd
R120 06S44593P89 | 10K 1/4W Rd
R121 06S44593P69 | 1.5K 1/4W Rd
R122 06844593P81 | 4.7K 1/4W Rd
R123 06S44593P81 | 4.7K 1/4W Rd
R124 06544593P89 | 10K 1/4W Rd
R125 06S44594P06 | 47K 1/4W Rd
R126 06S44594P06 | 47K 1/4W Rd
R127 06S44593P41 | 100 1/4W Rd
R128 06544594P06 | 47K 1/4W Rd
R129 06S844593P73 | 2.2K 1/4W Rd
R130 06544593P89 | 10K 1/4W Rd
R131 06S44593P89 | 10K 1/4W Rd
R132 06S44593P89 | 10K 1/4W Rd
R133 06S44593P89 | 10K 1/4W Rd
R134 06S44594P34 | 680K 1/4W Rd
R135 06544593P93 | 15K 1/4W Rd
R136 06S44593P65 | 1K 1/4W Rd
R137 06844593P77 | 3.3K 1/4W Rd
R138 06S544593P97 | 22K 1/4W Rd
R139 06S44593P83 | 5.6K 1/4W Rd
R140 06S44594P06 | 47K 1/4W Rd
R141 06544593P83 | 5.6K 1/4W Rd
R142 06S44594P06 | 47K 1/4W Rd
R143 06844593P97 | 22K 1/4W Rd
R144 06844593P41 | 100 1/4W Rd
R145 06S44593P77 | 3.3K 1/4W Rd
R146 06S44593P77 | 3.3K 1/4W Rd
R147 06S44593P77 | 3.3K 1/4W Rd
R148 06S44593P77 | 3.3K 1/4W Rd
R149 06544593P41 | 100 1/4W Rd
R150 06S44593P41 | 100 1/4W Rd
R151 06544594P06 | 47K 1/4W Rd
R152 06S44594P04 | 39K 1/4W Rd
R161 06S44593P41 | 100 1/4W Rd
R162 06844593P97 | 22K 1/4W Rrd
R201 06S844593P41 | 100 1/4W Rd
R202 06544593P45 | 150 1/4W Rd
R203 06544593P73 | 2.2K 1/4W Rd
R204 06544593P89 | 10K 1/4W Rd
R205 06844593P83 | 5.6K 1/4W Rd
R206 06544593P53 | 330 1/4W Rd
R208 06544593P89 | 10K 1/4W Rd
R209 06844593P89 | 10K 1/4W Rd
R210 06S44593P99 | 27K 1/4W Rd
R211 06S44593P41 | 100 1/4W Rd
R212 06S44593P93 | 15K 1/4W Rd
R213 06S44593P89 | 10K 1/4W Rd




LED PCB Parts List

IC Handling Guide

HA1197 (AM Tuner System)

© Q0O OO

h{:::i>JJ
RFA-2 conv —(12)
s

LA1235 (FMIF System)

i” 8 9
i ot
AVR Tuning Meter

Mute

, I Detune )

—*1 15 Iz'“’ l 3rd | 4th I 5th Tam Quad. e

2’| 7 T Limiter —J{aFc 7
Tuning

5 Meter
Orive

Schumidi
GCircuit

LED PCB Parts List

Syglc))ol Stock No. Description

(1IC)

IC301 [5IT51086F01 [BA 6125

(Diode)

D301 48T56898F01 | SLJ-265 UR SHL

D302 48T56899F01 | SLB~26UR5
(Capacitor)

€301 23T51235F16 | 10uF 16V E1
€302 23T51235F16 | 10uF 16V E1
(Resistor)

R301 06S44593P41 [ 100 174W Rd
R302 06544593P41 | 100 1/4W Rd
R303 06844593P89 | 10K 1/4W Rd
R304 06844593P89 | 10K 1/4W Rd
R305 06844593P67 |1.2K 1/4W Rd

BA6125 (LED Linear Level Meter Driver)

UPC1235C (FM Stereo Demodulator)

ST-MONO SW osc
& V.C.0.STOP RC NETWORK FILTER

Cel [e1 [+

1 ouT 2 Amp. N Vee
out ouUT3  OUT4 GND ouTs Outout
LOOP DETECTOR ST LAMP &
FILTER N FILTER FILTER 19KHz MONITOR

l_l

[+

PILOT STEREO
Y6 Oz E*é‘v‘é‘é#&? K PRESENCE SWITCH
r DETECTOR LAMP DRIVER
[ I I
76 KHz T
ST-MONO SW L JEknzTo BEETC e KT
) VCO STOP sW DIVIDER DIVlDER DIVIDER
[ )
LCH [
] ] POST AMP
PRE AMP NF AMP T ULATOR]
RCH
f POST AMP T »
) ) T T T & T ]
vee PRE AMP PRE AMP POST AMP POST AMP RCH LCH GND
INPUT OUTPUT BIAS BIAS oUTPUT OUTPUT

—~10—



Q102

'
ci11 H
0.022 25C1815Y Dsc1740R. 5
it R112 V.C.0-19KHZ 1
" Ri11] 1K $3, < H
c112 e 47K & VR102 R135 © :
4.7/50 - 2 15K «® '
i} s 3 .~ - *z !
C113 [5312 R113  47n ‘& S g c122 H
0-022 fpo022 " o4 | JES < osI crz1 W z70p /59 '
& H
R4 | w LS © N S \
at01 o xox 8 @ :
25C1875K/25C1674L g S.8K | S0 2 SE E =-L3 § § i
® 3 5T<|5]s |
14 13 12 11 10 9 l§ « E:: 18 1S 14 13 12 11 10 9
whx i & L10s
wo¥ w z R150
FE 101 IC101  LA123S moeT |27 g a 5% €102 ppcrz3sc R150 _C{))—
1 L102 2 4 8 x|~ a B N MPX
SEF 10.7M L103 J B &3
C107 R118 T|eo S, 136 ox o
3 Q103 oS8 25 1750 |5
2 R109 ] 330  [0.022 792 é S.8K g -l 25C1815Y/25c1740R. § ~1 = H— & ’;"J
(3) 33 o xS pye) S5 | e & | pop)
° o101 o2 322 S R127 a| SxSaedci3z
515352 100a ax © gﬁ N ey T 40P |13 L% X
sal | Lia 2 ETEQEE I R & o[ 52 $ES
= =SS =3 0103 = 51¢ e MERIE ° T"“
~ °© Reo mo e =‘. N S i3 2 @
r mSS aSx Ix A X 1008
3 03 oo Q108 2 o 330385 L3 | o7 3 R149 —T—
= 22 oz owor, =20 I B R H
« §° Sy 25°‘°'5%50|7Lon.s « IM“:' - 33 | E
%5 &5 Qodr frog Ay 1oe ;
2x S S H2S Tagl :
B -& S35 =89 i
@ - ~ ~NO . n0 D "
7 Gl '
H
RI17 1173 cria. SER 25C1815Y /) sc1740R. 5 @ 1
e aso | issol $°E !
L ° :
o8 :
. - H
D101-D105. 151555 MA150/05442 o L ;
() 35 H
Q108 5 e ;
28C1815Y 25c1740R. 5 Q107 :
c201 25018157 sc1740R. S ; i
mptsT 1
. I - F L201 L205  LA14SS H --- D
o .?.-E::mo " LA1095 ! ICS01  L78N12 s S 9 !
O 57T T8 3, "~ our | ™ 0502 e 8@ :
[ { é + ' ¢
“
- J :SF L) > 2 3 N c502 :
7 S QI D10S p-3 - S H 1000/25 '
v e % R182 i ¢ Pt :
L, €203 390P f--=-=-~, ' N P PT501 |
= | O SJ E psos | 0504 i
~ =] H
b [ = 1 ™ = ca13 G- : pso1-Ds0d :
8 1 0 o« — o~ 0.022 so ©o i IN003 H
—I : %i 5 |__’I7__| °z bR i :
o— S5 ! i
& | ol g8 £ e = ’
L202 23 g 1 Rt 1 H :
” LA1073 /] Om Q161 P-1 H '
- 3 o 25C1815Y| 25T56902F01 H
VR201 -] H
________ , N A 0 — . (SK, AK) ac :
Ry J_vh . R0 ox Ao i R DL
8 1o S ==§§ ! F] & Mo v ge R304 10K ! ! T
4 (53 o ] o~ § -l _1/50 25 ~© -‘L__ > T | :
o w bR €220 \ ' ' g; '
LW | . 210 0,022 : ! i 88 :
o - 2 ! ! 3 H
gl2] pBn ° AL fe® 5 ! : :
a It - 0.022 o oS¥ ' H ' '
H H w
” - lo ] oI - - b3 89 - H i x| H
L203 Q¥ - 2 c218| 3 Lo 531 1 ' 3! !
" (2s1119-3) gm § oT g .laize 8z o L 1c301 BAB12S b :
] H 1
B 1 33 ° ” D401 4 s o o @ H
o H " ! H H
ol 5?": Ps ._}\m S I§ SLB-26/RS H T | ol ;
L : H R204 I &3 (NON SHORT) (NON SHORT) < @gg H csod i
° 3 L {
; 1008 o.op2 SR &5 T e o o o 3 | 1] o o | = 1. i |
p I ! R201 €207 | [ ©op p© 0 : @@@@ H vo”a l ;,, ST o4
| sw 101 AB.C " e =T —O" “o__. .._QI] I]O L ' - ! ° ° !
"""""" L2064 LA1210 [H— ' 18 [ | Raos iox H SoorT |
L2068  LA1100 sW102 sW103 e 30z 100a] i H
: M t MONOSMUTING OFF A ; SW501 :
™ STEREOMMUTING ON Raot Vo POWER oFF 1
NOTE Remarks
! SW SETTING +SW501 POWER SW -ON pT501 1. Un'less other\_lee specified, all
resistors are in ohm 1/4 watt, all
*SWI01  MW/LW -LW capacitors are in micro farad.
«SW102 AM/EM -FM “;’OPV) 2. Transistors, IC and diode,may be
+SW103 STEREO & MUTE/MONO -STEREO 8 MUTE replaced with any types having
comparable rating.
2 NOTE *Q101  25C1675K/2SC1674L 25T56902F02 3. Due to continued imptfovement

*Q102-108 25C1815Y/2SC1740R.S

11—

LUX reserve the right to alter the

circuit or specification.

-LCH

oT101

-RCH

/1 T-210L]






Specifications

[FM Section]
Usable Sensitivity 75 ohms/300 ohms:
50 dB Quieting Sensitivity 75 ohms/300 ohms:
S/N Ratio at 65 dBf mono/stereo:
Frequency Response:
Distortion at 65 dBf: mono 100Hz
1KHz
6KHz
stereo 100Hz
1KHz
: 6KHz
Capture Ratio at 65 dBf:

Alternate Channel Selectivity 75KHz deviation:
4L0KHz deviation:

Spurious Response Ratio:

IF Response Ratio:

Image Response Ratio:

AM Suppression Ratio:

Stereo Separation: 100Hz
1KHz
10KHz

Muting Threshold:

Output Level: 100% MOD.

[AM Section]

Usable Sensitivity:
Image Response Ratio:
IF Response Ratio:
Distortion:

S/N Ratio:

Output Level:

[General]
Power Consumption:
Dimensions:

Weight:

0.95uV/1.9uv{(10.8dBf)
1.75uV/3.5uv(16.0dBf)
75dB/72dB
30Hz-15KHz (-1dB)
0.15%

.15%

3%

.25%

V2%

3%

.5dB

65dB (+400KHz )
55dB (+300KHz)
80dB

90dB

45dB

55dB

304dB

40dB

30dB

5uv

700mv

[N e R el Nl

[

MW LW
58dB/m 66dB/m
45dB 43dB
36dB 32dB
0.6% 1.3%
45dB 40dB
220mv 200mv

W

453 (WYx244(D)x77 (H)mm
(17.8"x9.6"x3.0")

Net 2.8kgs(6.21bs.)
Gross 3.5kgs(7.71bs.)

Specifications and appearance design subject to change without notice.

13—




